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PART A: Vocabulary

Directions: Choose the word or phrase (1}, {2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

I- Working on the assembly line was --——-- work because I did the same thing hour after
hour.
1) efficacious 2} monotonous 3) momentous 4) erroneous

2-  People are guilty of -——-- when they make judgments before they know all of the facts.
1) illusion 2) arrogance 3) avarice 4) prejudice

3-  Justin ———-- himself from the embarrassing situation by pretending he had to make a
telephone call,
1) extricated 2) extracted 3) exposed 4) expelled

4-  He was accused of manipulating the financial records to cover his ---——- .
1) suspicion 2) serutiny 3) fraud 4) paradox

5-  Since the jungle was -——--- -, we had to find an alternate route to the village.
1) permanent 2) vulnerable 3) redundant 4) impenetrable

6- Management refused to ---——- the union’s demands, s0 a strike costly to both sides
occurred.
1) capitulate to 2) withdraw from  3) impose on 4) grump about

7-  We had nothing in common, but despite our --——-- backgrounds and interests, my new
roommate and | became good friends by the end of the semester,
1) comprehensive  2) conscious 3) heterogeneous 4) haphazard

8-  Megan’s foreboding about going to class turied out to be --—-——- as the instructor gave a
surprise test for which she was completely miprepared.
1) qualified 2) justified 3) perplexed 4) wholehearted

9- If she had known how much of an --—-- her student debt would be, she would have
found a different way to finance her education.
1) apphication 2) encumbrance 3) immunity 4) optimism

10- The mechanic examined the engine carefully but said he was not able to - — the
cause of the problem.
|} pinpoint 2) derive 3) acquire 4) escalate

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| each space. Then mark the correct choice on your answer sheet.

Horticulture has a very long history. The study and science of horticulture dates all the
way back to the times of Cyrus the Great of ancient Persia, and has been going on
(11) =mmmmemee , with present-day horticulturists such as Freeman S. Howlett and Luther
Burbank. The practice of horticulture can be retraced for (12) =—=mm-mx . The cultivation
of taro and yam i Papua New Guinea dates back (13) —-——-- at least 69506440
cal BP. The origins of horticulture (14) ---——-——- in the transition of human
communities from nomadic hunter-gatherers to  sedentary  or  semi-sedentary
horticultural communities, (15) —=—-—-—- a variety of crops on a small scale around
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their dwellings or in specialized plots visited occasionally during migrations from one
area to the next.

11- 1) ever since 2) yet 3) that far 4) sull
12- 1) many thousands years 2) many thousands of years
3) years of many thousands 4) many years of thousands
13- 1) from 2) for 3)in 4)to
14- 1) are laad 2) lay 3 lie 4) are lying
15- 1) cultivating 2) cultivated 3) that cultivated 4) to cultivate

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by cheosing the best
cheice (1), (2), (3), or {4). Then mark the correci choice on your answer sheet

PASSAGE 1:

It has been common in second language teaching to stress the role of interference—that
is, the interfering effects of the native language on the target (the second) language. It
is of course not surprising that this process has been so singled out, for native language
interference 1s surely the most immediately noticeable source of error among second
language learners. The saliency of interference has been so strong that some have
viewed second language learning as exclusively involving the overcoming of the
effects of the native language. It is clear from learning theory that a person will use
whatever previous experience he or she has had with language to facilitate the second
language leamming process. The native language is an obwvious set of prior experiences.
Sometimes the native langoage 1s negatively transferred. and we say then that
interference has occwrred. For example, a French native speaker might say in English
“1 am in New York since January”, a perfectly logical transfer of the comparable
French sentence “Je suis a New York depuis Janvier”, Because of the negative transfer
of the French verb form to English, the French system has, in this case, interfered with
the person’s production of a correct English form.

It is exceedingly important to remember, however, that the native language of a
second language leamner is often positively transferred, in which case the leamer
benefits from the facilitating effects of the first language. In the above sentence, for
example. the correct one-to-one word order correspondence. the personal pronoun. and
the preposition have been positively transferred from French to English. We often
mistakenly overlook the facilitating effects of the native language in our penchant for
analyzing errors in the second language and for overstressing the interfering etfects of
the first language.
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What does the author consider as “not surprising” in paragraph 17

1) The idea that interference affects one’s native language

2) The fact that interference has been emphasized in second language teaching

3) The fact that interference plays the most important role in second language teaching

4) The 1dea that the process of second language learning has been commonly stressed

What can be concluded from the passage about interference?

1) It is often neglected by language teachers.

2) It 15 not considered to be important by researchers.

3) It is a process that should be taught to language learners.

4) It 15 not the only source of error among second language learners.

According to the passage, interference happens when —————--,

1) a French speaker makes a mistake in English

2) learning theory cannot anticipate one’s performance

3) the native language forms a set of prior experiences

4) the native language is negatively transferred to the target language

Why does the author mention “the correct one-to-one word order correspondence” in

paragraph 27

1) To warn against the possibility of positive transfer

2) To warn against overstressing the facilitating effects of the first language

3) To illustrate that learners often benefit from their native language in second
language learning

4) To illustrate that learners often transfer correct words from their first language

The word “penchant™ in paragraph 2 is closest in meaning to ——-——- .

1) ability 2)hatred
3) fondness 4) possibility
PASSAGE 2:

From early on Islam produced a broad prose literature of enduring significance. By
1500 the Muslim literary tradition—Dby then nearly nine hundred vears old—was one
of the leading traditions of the world and probably the largest in size at that time.
Although Muslim literature later came to be written down in a considerable number of
languages, until 1500 it was almost entirely written in just two, Arabic and Persian.
Though the Muslim canon in either language was enormous by 1500, the Arabic was
somewhat larger, in part because it was older, having begun in the seventh century,
while Persian Muslim literature began in the tenth. Arabic is the foundational language
of Mushim civilization, occupying a role similar to Greek mn the classical Graeco-
Roman tradition or Sanskrit in the ancient Indian civilization. Under Islam. Persian
was an Arabicized form of the pre-Islamic language of Iran and written in the Arabic
script.

Arabic written literature begins with the foundational sacred book of Islam, the
Qur'an, which came down in a series of separate revelations to the Prophet
Muhammad from about 609 to 632. No other sigmificant wnitten literature in Arabic
appears to have preceded the Qur'an; indeed. there are scarcely any examples of
Arabic writing prior to it apart from a few inscriptions. Thus, the seminal role of the
Qur'an in Arabic literature can hardly be overestimated. Because there is no earlier

written literature, the Qur'an has informed and influenced all subsequent developments
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in written Arabic, much as Homer's two epics did for Greek. It 1s no proof against its
influence to say that the Qur'an is in a category by itself and was not subsequently
imitated or reproduced.

What is the main purpose of the passage?

1) Discussing Islamic prose literature

2) Comparing Arabic and Persian Mushim literature

3) Explaining the significance of literature in Islam

4) Describing the Qur’an’s role in Arabic literature

According to paragraph 1, which of the following is true of Muslim literature?
1) It is written down in many languages.

2) It 1s written down i just two languages.

3) It was translated to many languages until 1500.

4) It was the only type of literature written in Arabic and Persian until 1500,

The word “it™ in the second paragraph refers to --—---- -
1) Islam 2) the Qur’an
3) Arabic writing 4) Arabic written literature

Which of the following best expresses the essential information in the underlined
sentence in paragraph 2?

1) The Qur’an has a highly significant role in Arabic literature.

2) The role of the Qur’an in Arabic literature 1s commonly overestimated.

3) It is difficult to estimate the importance of the Qur’an’s role in Arabic literature.
4} The role of the Qur’an in Arabic literature 1s cxaggerated by some scholars,

The author of the passage implies that Homer's two epics ----—---- .

1) came in a style impossible to imitate

2) influenced later developments in written Treek

3) were informed by Arabic written literature

4) were imitated in subsequent writter: Arabic

PASSAGE 3:

It is fair to say that interpreting studies largely owes its present position in academia to
the very practical concem of traiming qualified professionals, which has been
institutionalized at university level since the 1940s. While much development in
interpreter training was achieved without the benefit of scientific research, the idea
that a more thorough understanding of the interpreter's task and skills would facilitate
teaching and learning has never been in doubt, making interpreter trainers the prime
consumers of insights gained from research.

But the link between research findings and actual teaching practices m the
interpreting classroom is rather tenuous. Daniel Gile (1990: 33), referring specifically
to traming-oriented scientific research, concluded that "it does not seem to have had
any significant effect on training methods and results except in courses given by the
researchers themselves, and sometimes i the schools where they teach, but on the
whole, interpretation instructors prefer to keep their personal, most often traditional
methods, and take no heed of research”.

In recent years, there has been considerable progress in training-oriented research,
with studies (usually at the doctoral level) on strategy use by trainee simultaneous
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interpreters; on note-taking practices in consecutive interpreting: on the role of
preliminary exercises in simultaneous interpreter traiming; or on the assessment criteria
applied to final-exam performances. But Gile's doubts may still linger. Aside from
"training of trainers” initiatives like Barbara Moser-Mercer's course in Geneva, little 1s
known about the actual uptake of research findings by the teaching staff of interpreter
training institutions.

What does the passage mainly discuss?

1) The history of traiming qualified interpreters

2) The position of interpreting studies in academia

3) The practical concerns of training qualified researchers

4) The hink between interpreting studies and interpreter education

According to the passage, who are the most likely users of interpreting research?
1) University instructors

2) Scientific researchers

3) Interpreter trainers

4) Professionals in different fields of study

Daniel Gile mentions all of the following about training-oriented research EXCEPT
1) interpreter trainers have personal teaching methods

2) interpretation instructors do not pay much attention to research

3) researchers use their research results in the courses they teach

4} training-oriented research has had a considerable effect on training methods
The word “linger™ in paragraph 3 is closest in meaning to --=-—--,

1) perish 2) persist

3) spread 4 obstruct

The author mentions Barbara Moser-Mencer's course in Geneva as an example of a
course that —------—,

1} does not give final exams

2) confirms Gile’s doubts

3) actually utilizes research findings

4) does not benefit from training-oriented research
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